

Name:

Klasse:

Datum:

Aufgabe 1. $(5 - 7)^2 + 5^3 + 7 - (-7 + 7) + (4 * 2) =$

Aufgabe 8. $(8 * 8) * (3 * 5) + 3^3 - (-5 + 4) * (4 + 5) =$

Aufgabe 2. $(4 + 4) - 4^3 + 6 * (4 - 5) - (5 + 3) =$

Aufgabe 9. $(3 + 9) - (5 * 5) + 5^3 - (2 + 5) - (7 * 6) =$

Aufgabe 3. $(7 - 6)^3 - 7 + 4 + (-6 - 9) + (7 + 8) =$

Aufgabe 10. $(4 + 3) + (2 + 2) * 2^2 - (2 - 9) * (4 + 7) =$

Aufgabe 4. $(6 - 7)^3 * 6^2 + 6 - (-7 + 5) - (3 - 9) =$

Aufgabe 11. $(2 * 3) - (2 - 6) - 2 * (-5 * 3) + (8 * 3) =$

Aufgabe 5. $(3 + 7)^2 + 3^2 - 5 * (7 - 3) : (9 - 4) =$

Aufgabe 12. $(2 - 6) + (2 - 2) * 2^3 - (-7 - 2) + (5 + 9) =$

Aufgabe 6. $(5 + 2) + 5^2 * 7 + (2 + 2) + (4 * 5) =$

Aufgabe 13. $(5 + 3) - (3 * 7) + 3 * (-2 - 7) - (2 + 4) =$

Aufgabe 7. $(7 * 8) * 7 - 2 * (-8 - 5) - (2 - 8) =$

Aufgabe 14. $(2 - 4) - (7 - 4) + 7^2 * (4 * 5) + (5 + 3) =$

Aufgabe 15. $(4 - 5)^3 + 4^3 + (4 * 4^2) - (9 - 3) =$

Aufgabe 22. $(6 - 6) + 6^3 * (4 - 5) + (7 - 2) =$

Aufgabe 16. $(6 - 9)^3 + 2 * (-2 - 2^3) * (3 * 5) =$

Aufgabe 23. $(4^2 * 7) - 4 + (-6 * 5) - (4 - 6) =$

Aufgabe 17. $(4 - 9)^3 - 9^2 + (9 + 9) - (9 - 2) =$

Aufgabe 24. $(4 * 5) - 4 * (-8 * 5) + (8 + 2) =$

Aufgabe 18. $(5 - 4)^2 * 9 - (9 + 9^3) - (8 * 2) =$

Aufgabe 25. $(2 * 3) + 2 * (-8 * 3) - (9 * 5) =$

Aufgabe 19. $(8 - 6)^3 * 4^3 - (4 * 4^3) + (8 + 4) =$

Aufgabe 26. $(8^2 + 2) - 8^2 + (-4 * 4) * (3 - 8) =$

Aufgabe 20. $(2 + 3) + 4 * (-4 - 4^3) - (4 * 8) =$

Aufgabe 27. $(7^2 + 3) + 7^3 + (-2 * 9) * (2 + 2) =$

Aufgabe 21. $(3 - 4) + 5^2 - (5 - 5^2) * (3 * 4) =$

Aufgabe 28. $(5^2 + 8) * 5 - (5 * 3) + (5 + 5) =$

Lösungen:

Aufgabe 1: 144
Aufgabe 2: -70
Aufgabe 3: -2
Aufgabe 4: -22
Aufgabe 5: 105
Aufgabe 6: 206
Aufgabe 7: 424
Aufgabe 8: 996
Aufgabe 9: 63
Aufgabe 10: 100
Aufgabe 11: 64
Aufgabe 12: 19
Aufgabe 13: -46
Aufgabe 14: 983
Aufgabe 15: 121
Aufgabe 16: -327
Aufgabe 17: -195
Aufgabe 18: -745
Aufgabe 19: 268
Aufgabe 20: -299
Aufgabe 21: 264
Aufgabe 22: -211
Aufgabe 23: 80
Aufgabe 24: 190
Aufgabe 25: -87
Aufgabe 26: 82
Aufgabe 27: 323
Aufgabe 28: 160